|®
\L
((@10mm) (" #4mm

R

.
s g ™

y

-

(M4x25)-4pcs
(M5x25)-4pcs
(M6x25)-4pcs

E- @ (M8)-4pcs

F- &) (015x08.2%10)-4pcs
G-@——=3 (10mm)-1pcs

H - fommmm (7x80)-3pcs

I- CHE@mD® ($10xP7x60)-3pcs
J- =) (M6x12)-4pcs

J

Marked 3 locations on wall

Install 3 anchors into drilled holes, then install 3 lag
serews through wall plate mounting holes and into anchors.

Installation of TV with interface o

3hex lag screws through wall
plate mounting holes and into drilled

p Cables management

Tilt angles adjustment \




